Outdoor Living Today
Flower Box Assembly Instructions
OLT Version #4 Side Trims (D) EXplOded

Outdoor Living Today Feb 18th, 2015 View Front Trim (C)

Nails (G)

Parts Lists:

A - Base, Rear & Front Box Frames (3pcs) 3/4” x 5 1/2" x 23"

B - End Cap Frames (2pcs) 3/4"x51/2"x7" /8

C - Front Trim (1 pc) 3/4”x11/2" x 26”

D - Side Trims (2 pc) 3/4”x11/2" x 8 3/4”

E - Brackets (2pc) 11/27x51/2" x5 1/2" <«—Front (A)

Parts F - 1 1/4” Screws and G - 1 1/2” Nails can be found in
main Shed Hardware Kit.

Flush

Rear (A) N

SRR
Screws (F)

&

1. On a table position Rear Box and End Cap Frames together so flush at top. Fasten together with
2 -1 1/4” screws. Place Base Frame tight against Rear and End Cap and flush at bottom. Secure with
2 -1 1/4” screws. Complete attachment of remaining End Cap Frame. Slide Front Frame between End Caps.

End Cap

Brackets (E
Right Angle Cut to Rear (E) Base (A)

-

Front Trim

Flush Side Trim
1 1/4” Screw

2. Position Front Frame Piece flush with End Cap. Attach both ends with 2 - 1 1/4” screws. Pilot hole Rear
Box Frame near bottom center and secure to Base edge with 1 - 1 1/4” screw. Evenly position Front Trim
(mitre cut on end and dado cut on inside bottom) tight against front frame and nail down with 4 - 1 1/2” nails.
Position Side Trims as per Front and secure with 3 - 1 1/2” nails per side.

1 1/4” screws
N
N
Rear Flush

3. On a flat surface, flip Flower Box on it's rear face. Evenly space Brackets and secure through Base Frame
and into the Brackets with 2 - 1 1/4” screws per Bracket. Position completed Flower Box beneath window trim
and screw from inside of box into the center wall stud with 2 - 2” screws. (2” screws supplied with Base Kit.)

. 2" screws [

Toll Free 1-888-658-1658 www.outdoorlivingtoday.com sales@outdoorlivingtoday.com



